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PART - I
Directions for questions 1-4: In a class of 150
students, 85 students passed in Maths, 95
students passed in English and 120 passed in
Marathi. 65 students passed in both Maths &
English, 60 passed in both Maths & Marathi and
70 passed in both English & Marathi. 50 passed
in English, Marathi & Maths.

1. How many students passed only in Maths?
(a) 10 (b) 30 (c) 20 (d) 40

2. How many passed only in Marathi?
(a) 50 (b) 55 (c) 60 (d) 40

3. How many students passed in both Marathi and
English but not in Maths?
(a) 20 (b) 40 (c) 30 (d) 50

4. How many students passed in both Maths &
English but not in Marathi?
(a) 30 (b) 15 (c) 25 (d) 20

5. Which was the day on 23rd January 1985?
(a) Monday (b) Tuesday
(c) Wednesday (d) none of these

PART I
ÍýWÌ 1-4 : 150 ãÕYâÉäôáíÌâ Õ½ôÑâï 85 ãÕYâÉäôáí

½ãÇÈÑâï, 95 ãÕYâÉäôáí áï½ýë‘Ñâï áÌë 120 ãÕYâÉäôáí
ÑÓâÄäÑâï ÍâÖ ÉÒâ Àë. 65 ãÕYâÉäôáí ½ãÇÈ áÌë áï½ýë‘
ÏïÌëÑâï, 60 ãÕYâÉäôáí ½ãÇÈ áÌë ÑÓâÄäÑâï áÌë 70
ãÕYâÉäôáí áï½ýë‘ áÌë ÑÓâÄäÑâï ÍâÖ ÉÒâ Àë. 50
ãÕYâÉäôáí áï½ýë‘, ÑÓâÄä áÌë ½ãÇÈÑâï ÍâÖ ÉÒâ Àë.

1. »ëÃÔâ ãÕYâÉäôáí Î»È ½ãÇÈÑâï ÍâÖ ÉÒâ¬

(a) 10 (b) 30 (c) 20 (d) 40

2. »ëÃÔâ ãÕYâÉäôáí Î»È ÑÓâÄäÑâï ÍâÖ ÉÒâ¬

(a) 50 (b) 55 (c) 60 (d) 40

3. »ëÃÔâ ãÕYâÉäôáí ÑÓâÄä áÌë áï½ýë‘Ñâï ÍâÖ ÉÒâ ÍÇ
½ãÇÈÑâï ÍâÖ Ì ÉÒâ¬

(a) 20 (b) 40 (c) 30 (d) 50

4. »ëÃÔâ ãÕYâÉäôáí ½ãÇÈ áÌë áï½ýë‘Ñâï ÍâÖ ÉÒâ ÍÇ
ÑÓâÄäÑâï ÍâÖ Ì ÉÒâ¬

(a) 30 (b) 15 (c) 25 (d) 20

5. 23 ’nÒçáâÓä 1985 áë »Òí ãÊÕÖ ÚÈí

(a) ÖíÑÕâÓ (b) Ñï½ÛÕâÓ

(c) ÏçËÕâÓ (d) áë»ÍÇ ÌãÚ

For Rough Work
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6. Which piece below, when fitted into the piece on
the left, will form a perfect square?

(a) (b)

(c) (d)

7. Which number is the odd one out?
9678,  4572,  5261,  5133,  3527,  6895,  7768
(a) 4572    (b) 5133 (c) 7768 (d) 3527

8. Isotherm is to temperature as isobar is to :
(a) Atmosphere (b) Wind
(c) Pressure (d) Latitude

6. Ìä¿ëÌâÑâïÉä »Òâ Ãç»ÅâÌë ÁÒâÓë áâ»öãÈÑâï áâÍëÔ Ãç»Åâ
ÖâÉë ÅâÏä ÏâÁçáë ÏëÖâÅÈâ ÖïÍèÇô ¿íÓÖ ÏÌë Àë.

(a) (b)

(c) (d)

7. »æ ÖïKÒâ áë»ä ÖïKÒâ Àë¬

9678,  4572,  5261,  5133,  3527,  6895,  7768
(a) 4572    (b) 5133 (c) 7768 (d) 3527

8. ÖÑÈâÍä ÈâÍÑâÌ Ê×âôÕë Àë, ÖÑÊâÏä........Ê×âôÕë Àë.

(a) ÕâÈâÕÓÇ (b) ÍÕÌ

(c) ÊÏâÇ (d) áÜâï×

For Rough Work
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9.

Which is the missing section?

(a) (b)

(c) (d)

10.In a joint family, an old farmer has four sons.
Among four sons each son has two sons and two
daughters. The old farmer and her daughters-
in-law are also in the family. How many
members are there in the family?
(a) 20  (b)  26 (c) 25 (d) 16

11.The salaries of A, B and C are in the ratio
2 : 3 : 5. If the increments of 15%, 10% and
20% are given respectively in their salaries, then
be what will the new ratio of their salaries?
(a) 3 : 3 : 10 (b) 10 : 11 : 20
(c) 23 : 33 : 60    (d) Cannot be determined

9.

¼èÃÈí ãÕÐâ½ »Òí¬

(a) (b)

(c) (d)

10.áë» ÖïÒç»È »çÃçïÏÑâï áë» ¾ÓÅí ¼ëÅèÈ áÌë ÈëÌâ ¿âÓ ÍçÝí
Àë, ÏËâ ¿âÓ ÍçÝíÌë áë» ÍçÝ Àë áÌë áë» ÍçÝÌë Ïë ÍçÝí
áÌë Ïë ÍçÝäáí Àë. ¾ÓÅí ¼ëÅèÈ áÌë ÈëÌä ÍçÝÕËçáí ÍÇ
»çÃçïÏÑâï Àë, Èí »çÃçïÏÑâï »ëÃÔâ ÖBÒí ÚíÒ¬

(a) 20  (b)  26 (c) 25 (d) 16

11.A, B áÌë C Ìí Í½âÓ 2 : 3 : 5 Ìâ ½çÇí^âÓÑâï Àë. ’ë
ÈëáíÌâ Í½âÓÑâï áÌç»ýÑë 15%, 10% áÌë 20% Ìí
ÕËâÓí »ÓÕâÑâï áâÕë Èí ÈëáíÌâ Í½âÓÌí ÌÕí ½çÇí^âÓ
»ëÃÔí Ú×ë¬

(a) 3 : 3 : 10 (b) 10 : 11 : 20

(c) 23 : 33 : 60 (d) Ì>ä »Óä ×»âÒ ÌãÚ

For Rough Work



Page # 5UG–1 & 2, Concorde Complex, Above OBC Bank. R.C. Dutt Road., Alkapuri Baroda.

KHOJ  PHASE - II            SCIENCE APTITUDE TEST              CLASS - 8

12.In the diagram, XY is a straight line.What is
the value of x?

800

400

20 0

x0 1500

X Y

(a) 170    (b) 160 (c) 150 (d) 140
13.The three blind mice stole a piece of cheese. In

the night, the first mouse ate
1
3  of the cheese.

Later,  the second mouse ate
1
3   of the remaining

cheese. Finally, then third mouse ate
1
3  of what

was then left of the cheese.
Between them, what fraction of the cheese did
they eat?

(a)
16
27 (b)

17
27 (c)

2
3 (d)

19
27

12.áâ»öãÈÑâï XY ÖäËä Óë¼â Àë, Èí x Ìä ã»ïÑÈ ×çï Àë¬

800

400

20 0

x0 1500

X Y

(a) 170    (b) 160 (c) 150 (d) 140

13.ÝÇ áâïËÛâ éïÊÓí ¿äÂÌí Ãç»Åí ¿íÓë Àë, ÓâÝë ÍÚëÔí éïÊÓ

¿äÂÌí
1
3 Ðâ½ ¼âæ ’Ò Àë, ÍÀä Ïä’ë éïÊÓ Ïâ»äÌâ

¿äÂÌí
1
3 Ðâ½ ¼âæ ’Ò Àë, ÀëlÔë Ýä’ë éïÊÓ

1
3 Ðâ½

¼âæ ’Ò Àë Èí ¿äÂÌí »ëÃÔí Ðâ½ Ïâ»ä ÓÚë¬ ÈëÑÌä
Õc¿ë Èëáí »ëÃÔâ ½çÇí^âÓÑâï ¿äÂ ¼âÒ Àë¬

(a)
16
27 (b)

17
27 (c)

2
3 (d)

19
27

For Rough Work
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14.The equilateral triangle ABC has side of length 1
meter and AB lies on the line XY. The triangle is
rotated clockwise around B until BC lies on the
line XY. It is then rotated similarly around C and
then about A as shown in the diagram. What is
the length of the path traced out by point C dur-
ing this sequence of rotation?

(a)
4
3


m (b) 2 3 m (c)
8
3


m (d) 3 m

15.


   
x 1x 12(2 2) ( 8) , then the value of x is ___

(a) 4 (b) 2 (c) 3 (d) 521

16.Find the value of 20112012

20132012

22

22




(a) 10 (b) 6 (c) 4 (d) 8

17.If  3 2 x
xx x then the value of x is ____

(a) 1 (b) 2
(c) 3 (d) none of these

18.Which of the following statement is correct?
(a) m × m × m = 3m (b) x3 = n x = n3

(c) 3 3 3a b a b   (d) 3 3 3a b a b  

14.ÖÑÏâÁç ãÝ»íÇ ABC Ìä ÏâÁçÌä ÔïÏâæ 1 ÑäÃÓ áÌë
AB Óë¼â XY ÍÓ ÀëÊë Àë, B Ìä áâÁçÏâÁç ãÝ»íÇÌçï
ÖÑ¾Åä ãÊ×âÑâï ÍãÓÐýÑÇ »ÓâÕÕâÑâï áâÕë Àë, »ë ÁëÉä
BC Óë¼â XY ÍÓ ÀëÊë. áâ»öãÈÑâï Ê×âôvÒâ ÍýÑâÇë C áÌë
ÍÀä A Ìä áâÁçÏâÁç ÖÑâÌ ÓäÈë ÍãÓÐýÑÇ »Óë Àë, Èí
ÍãÓÐýÑÇÌâ »ýÑ ÊÓmÒâÌ ãÏïÊç C Ìä áâÁçÏâÁçÌâ ÓsÈâÌä
ÔïÏâæ »ëÃÔä¬

(a)
4
3


m (b) 2 3 m (c)
8
3


m (d) 3 m

15.


   
x 1x 12(2 2) ( 8) , Èí x Ìä ã»ïÑÈ

(a) 4 (b) 2 (c) 3 (d) 521

16. 20112012

20132012

22

22




Ìä ã»ïÑÈ

(a) 10 (b) 6 (c) 4 (d) 8

17.’ë  3 2 x
xx x Èí x Ìä ã»ïÑÈ

(a) 1 (b) 2
(c) 3 (d) áë»ÍÇ ÌãÚ

18.Ìä¿ëÌâÑâïÉä »Òçï ãÕËâÌ Öâ¿çï Àë¬

(a) m × m × m = 3m (b) x3 = n x = n3

(c) 3 3 3a b a b   (d) 3 3 3a b a b  

For Rough Work
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19.A rhombus OABC is drawn inside a circle
whose centre is at O in such a way that the
vertices A, B and C of the rhombus are on the
c i r c l e .  I f  t h e  a r e a  o f  t h e  r h o m b u s ,  i s  3 2 3  m2,
then the radius of the circle is :
(a) 64 m    (b) 8 m (c) 32 m (d) 46 m

20.If (3x – 4) (5x + 7) = 15x2 – ax – 28 then a = ____
(a) 1 (b) – 1
(c) – 2 (d) none of these

21.A regular octagon is placed inside a square, as
shown in the figure, The shaded square connects
the midpoints of the four sides of the octagon.
What fraction of the outer square is shaded?

(a) 2 1 (b)
1
2

(c)
2 1
4


(d)
2 2
5


22.If (a + b) : (b + c) : (c + a) = 6 : 7 : 8 and
(a + b + c) = 14, then the value of c is :
(a) 6 (b) 7 (c) 8 (d) 14

19.ÖÑ¿ÈçÐçôÁ OABC ÕÈçôÛÌä áïÊÓ ÊíÓëÔí Àë »ë ÁëÌçï »ën¨ O
áâ½Û áëÕä ÓäÈë Ñç»ëÔ Àë »ë ÁëÉä ÖÑ ¿ÈçÐçôÁÌâ ã×ÓíãÏïÊçáí

A, B áÌë C áë ÕÈçôÛ ÍÓ Àë, ’ë ÖÑ¿ÈçÐçôÁÌçï ÜëÝÎÛ 32 3
m2, Èí ÕÈçôÛÌä ãÝÁÒâ

(a) 64 m    (b) 8 m (c) 32 m (d) 46 m
20.’ë  (3x – 4) (5x + 7) = 15x2 – ax – 28 Èí  a = _______

(a) 1 (b) – 1
(c) – 2 (d) áë»ÍÇ ÌãÚ

21.áâ»öãÈÑâï Ê×âôvÒâ ÍýÑâÇë áë» ãÌÒÑäÈ áí»Ãâ½íÌÌë ¿íÓÖÌä
áïÊÓ Ñç»ëÔ Àë, ÀâÒâïã»È ¿íÓÖ áí»Ãâ½íÌÌë ¿âÓ ÏâÁçáíÌâ
ÑDÒãÏïÊçÌë ’ëÅë Àë, Èí ÏÚâÓÌâ ¿íÓÖÌí »ëÃÔí Ðâ½ ÀâÒâïã»È
ÚíÒ¬

(a) 2 1 (b)
1
2

(c)
2 1
4


(d)
2 2
5


22.’ë (a + b) : (b + c) : (c + a) = 6 : 7 : 8 áÌë
(a + b + c) = 14, Èí c Ìä ã»ïÑÈ

(a) 6 (b) 7 (c) 8 (d) 14

For Rough Work
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For Rough Work

23.A and B together have Rs. 1210. If
4
15

 of A’s

amount is equal to
2
5

 of  B’s amount, how
much amount does B have?
(a) Rs. 460 (b) Rs. 484
(c) Rs. 550 (d) Rs. 664

24.Two numbers are respectively 20% and 50%
more than a third number. The ratio of the
two numbers is :
(a) 2 : 5 (b) 3 : 5 (c) 4 : 5 (d) 6 : 7

25.If
1x
x

  
 

 =
1
2

, then 2
2
44x
x

  
 

 is equal to -

(a) 7 (b) –7 (c) 9 (d) –9
26.If 2x – 2x–1 = 16, then the value of x2 is -

(a) 4 (b) 9 (c) 16 (d) 25
27.If x and y are non-zero rational unequal

numbers, then
2 2

2 2
(x y) (x y)
x y xy
  

  is equal to -

(a)
1
xy (b)

1
x y

(c)
4
x y (d)

2
x y

23.A áÌë B ÍâÖë Ðë½â ÑÛäÌë Rs. 1210 Àë. ’ë A Ìä

Ó»ÑÌâ
4
15

áë B Ìä Ó»ÑÌâ
2
5

Ñâ Ðâ½Ìë ÏÓâÏÓ

ÚíÒ Èí B ÍâÖë »ëÃÔä ã»ïÑÈ ÚíÒ¬

(a) Rs. 460 (b) Rs. 484
(c) Rs. 550 (d) Rs. 664

24.Ïë ÖïKÒâáí áÌç»ýÑë 20% áÌë 50% Ýä‘ ÖïKÒâÉä
ÕËâÓë Àë. Ïë ÖïKÒâáíÌí ½çÇí^âÓ........

(a) 2 : 5 (b) 3 : 5 (c) 4 : 5 (d) 6 : 7

25.’ë
1x
x

  
 

 =
1
2

, Èí
2

2
44x
x

  
 

ÏÓâÏÓ.......

(a) 7 (b) –7 (c) 9 (d) –9

26.’ë 2x – 2x–1 = 16, Èí x2 Ìä ã»ïÑÈ....

(a) 4 (b) 9 (c) 16 (d) 25

27.’ë x áÌë y Ïë ×ènÒëÈÓ ÖïÑëÒ áÖÑâÌ ÖïKÒâáí ÚíÒ

Èí
2 2

2 2
(x y) (x y)
x y xy
  

 áë............Ìë ÖÑâÌ ÚíÒ

(a)
1
xy (b)

1
x y

(c)
4
x y (d)

2
x y
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28.Find the value of 1 102 1 99 101  

(a) 99 (b) 100 (c) 101 (d) 102
29.What is the difference between the compound

interest on Rs. 5,000 for
11
2

 years at 4% per

annum compounded yearly and half-yearly?
(a) Rs. 2.04 (b) Rs. 3.06
(c) Rs. 4.80 (d) Rs. 8.30

30.The base BC of triangle ABC is divided at D so

that
1BD DC.
2
 Area of   ABD =

(a) 1/3 of the area of  ABC

(b) 1/2 of the area of  ABC

(c) 1/4 of the area of  ABC

(d) 1/6 of the area of  ABC

28. 1 102 1 99 101   Ìä ã»ïÑÈ

(a) 99 (b) 100 (c) 101 (d) 102

29.5,000 #â. Ìçï
11
2

ÕØôÌâ 4% ÊÓë ÕâãØô» áÌë áËôÕâãØô»

¿»ýÕöã} vÒâÁ Õc¿ëÌí ÈÎâÕÈ »ëÃÔí¬

(a) #â. 2.04 (b) #â. 3.06
(c) #â. 4.80 (d) #â. 8.30

30.ãÝ»íÇ ABC Ìí áâËâÓ BC, D áâ½Û áëÕä ÓäÈë ÀëÊë Àë  »ë

ÁëÉä
1BD DC.
2
 Èí   ABD Ìçï ÜëÝÎÛ

(a) 1/3 of the area of  ABC

(b) 1/2 of the area of  ABC

(c) 1/4 of the area of  ABC

(d) 1/6 of the area of  ABC

For Rough Work
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PART II
1. Green house effect is caused by which gas?

(a) O2 (b) CO2 (c) N2 (d)H2O
2. If a solid object is taken into space, which of the

following measurements of the object will change
most?
(a) Density (b) Mass
(c) Volume (d) Weight

3. A current carrying coil of an insulated wire
wrapped around a piece of iron is called?
(a) Magnet (b) Electric circuit
(c) Electromagnet (d) None

4.We can cover the  jewellery  made  of  less 
expensive metals, with layer of   gold or silver, 
by ____. 
(a)  Electroplating
(b) Earthing
(c)  Charging
(d)  Simply dipping in gold solution.

5. In winter why do you rub your hands to keep
them warm ?
(a) Your hands do not actually become warmer
when you rub them. The effect is purely
psychological.
(b) In cold climates, your blood does not flow very
well. Rubbing pushes blood into your fingers and
the warm blood keeps the hands warm.
(c) The exercise of rubbing your hands vigorously
produces heat which keeps the hands warm.
(d) Friction between your hands produces heat
and keeps them warm.

PART II
1. ½ýäÌ ÚâéÖ áÖÓ »Òâ ÕâÒçÌë »âÓÇë éÊzÐÕë Àë¬

(a) O2 (b) CO2

(c) N2 (d) H2O
2. ’ë áë» ÍÊâÉôÌë áÕ»â×Ñâï Ñç»ÕâÑâï áâÕë Àë. Èí Ìä¿ë áâÍëÔâ

ÍÊâÉôÌâ ÑâÍÌÑâïÉä ÖâìÉä ÕËç »íÇ ÏÊÔâÒ Àë¬

(a) ¾ÌÈâ (b) ÐâÓ

(c) »Ê (d) ÕÁÌ

3. Ôí¼ïÅÌâ Ãç»Åâ ÍÓ áÕâÚ» ÈâÓÌë ÕäïÃâÛäÌë ÏÌëÔâ ãÕYçÈ
ÐâÓäÈ ½èï¿ÛâÌë ×çï »ÚëÕâÒ¬

(a) ¿çïÏ» (b) ãÕYçÈ ÍÓä¿Ò

(c) ãÕYçÈ ¿çïÏ»äÒ (d) áë»ÍÇ ÌãÚ

4. áíÀä Ñíï¾ä ËâÈçáíÉä ÏÌëÔ ÁÕëÔÓäÌë ÖíÌâ áÉÕâ ¿âïÊäÌâ
sÈÓ ]âÓâ áâÍÇë ÈëÌë áâÕÓäÈ »Óäáë Àäáë.............

(a)  æÔë»Ã÷ípÔëÃäï½

(b) áÉäôï½

(c)  ¿â‘ôï½

(d)  ÖíÌâÌâ ̈ âÕÇÑâï ÅçÏâÅäÌë

5. ã×ÒâÛâÑâï ÈÑë ÈÑâÓâ ÚâÉÌë ¾ÖÕÉä ÚèïÎâÛâ ÓÚë Àë, ×â ÑâÃë¬

(a) ÁÒâÓë ÈÑë ÚâÉÌë ¾Öí Àí tÒâÓë ÈÑâÓâ ÚâÉ ¼Óë¼Ó ÚèïÎâÛâ
ÏÌÈâ ÌÉä, áâ áÖÓ ÖïÍèÇô ÑâÌãÖ» Àë.

(b) ÄïÅâ ÚÕâÑâÌÑâï ÈÑâÓçï ÔíÚä ÖâÓä ÓäÈë ÕÚëÈçï ÌÉä, ¾ÖâÕâÉä
ÔíÚä ÈÑâÓä áâï½ÛäáíÑâï ’Ò áÌë ½ÓÑ ÔíÚä ÚâÉÌë ÚèïÎâÛâ
Óâ¼ë Àë

(c) ÈÑâÓâ ÚâÉíÌë Ö¼È ÓäÈë ¾ÖÕâÌä »ÖÓÈÉä étÍnÌ ½ÓÑ
ÈÑâÓâ ÚâÉÌë ÚçïÎâÛâ Óâ¼ë Àë.

(d) ÈÑâÓâ ÚâÉíÌä Õc¿ë ¾ØôÇÌâ ÔäËë ½ÓÑä étÍnÌ ÉâÒ
áÌë ÈëÑÌë ÚèïÎâÛâ Óâ¼ë Àë
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6. Some whistles are designed to produce waves
that can attract the attention of dogs but humans
do not notice these waves. What kind of waves
are these?
(a) These are normal sounds waves whose
frequency is less than 20 Hz. Humans cannot
hear them because these waves have frequencies
below the audible range.
(b) These are normal sounds waves whose
frequency is more than 20,000 Hz. Humans
cannot hear them because these waves have
frequencies above the audible range.
(c) These are electromagnetic waves.
(d) These are supersonic sound waves.

7. You wake up inside a small transparent capsule
sitting on the surface of Venus. From a small
speaker you hear a voice that says, “We will leave
you here either for a Venus day or a Venus year.
If you choose to stay a day, we will give you Rs.
1 crore. If you choose to stay a year, we will give
you Rs.2 crore. Either way, you will have
sufficient food and water. We will make sure the
temperature is comfortable and we will also
supply cable TV. What is your choice?
(a) 1 day. I need to go back to school tomorrow.
(b) 1 day. I’m not greedy.
(c) 1 year. A Venus year is shorter than a Venus
day.
(d) 1 Year. It will take longer but I will make more
money!!!

8. The intensity of earthquakes is measured on
(a) the Richter scale (b) the Celsius scale
(c) the Beaufort scale (d) the Fahrenheit Scale

6. »ëÃÔä» ÖäÖíÃäáí áëÕä Í}ãÈáíÉä ÏÌâÕä ×»âÒ »ë ÁëÉä
étÍnÌ ÉÈâ ÈÓï½í »èÈÓâáíÌçï DÒâÌ Óâ¼ë ÍÇ ÑâÌÕä áâ
ÈÓï½íÌë DÒâÌÑâï Óâ¼Èâ ÌÉä, Èí áâ Íý»âÓÌâ ÈÓï½í ÚíÒ

(a) áâ ÖâÑânÒ DÕãÌ ÈÓï½í Àë ÁëÌä áâ»öãÈ 20 Hz Éä áíÀä
Àë, ÑâÌÕä áâ DÕãÌÌë ÖâïÐÛä ×»Èí ÌÉä, »âÓÇ»ë áâ
ÈÓï½íÌä áâÕöãÈáí áëÅäÏÔ ãÕsÈâÓÉä Ìä¿ë ÚíÒ

(b) áâ ÖâÑânÒ DÕãÌ ÈÓï½í Àë »ë ÁëÌä áâÕöã^â 20,000 Hz
Éä ÕËâÓë Àë ÑâÌÕä áâ DÕãÌÌë ÖâïÐÛä ×»Èí ÌÉä, »âÓÇ»ë
áâ ÈÓï½íÌä áâÕöãÈáí áëÅäÏÔ ãÕsÈâÓÉä éÍÓ ÚíÒ

(c) ãÕYçÈ ¿çïÏ»äÒ ÈÓï½í Àë

(d) áâ ÖçÍÓÖíÌä» DÕãÌÈÓï½í Àë

7. ×ç»ýÌä ÖÍâÃä ÍÓ ÏëÄëÔâ ÌâÌâ »ëpÖèÔÌä áïÊÓ ÈÑë ’½öÈ Éâáí
Àí, áë» ÌâÌâ Õ»Èâ ÈÓÎÉä ÈÑë áë» áÕâÁ ÖâïÐÛí Àí, Áë »Úë
Àë áÑë ÈÑÌë ×ç»ý ãÊÕÖ áÉÕâ ×ç»ý ÕØô ÑâÃë áÚäï ÀíÅä×çï. ’ë ÈÑë
áë» ãÊÕÖ ÓÚëÕâÌçï ÍÖïÊ »Óí Àí Èí áÑë ÈÑÌë #â. 1 »ÓíÅ áÌë
’ë ÈÑë áë» ÕØô ÓÚëÕâÌçï ÍÖïÊ »Óí Àí Èí áÑë ÈÑÌë #â. 2  »ÓíÅ
áâÍä×çï. »íæÍÇ ÓäÈë ÈÑâÓä ÍâÖë ÍèÓÈí ¼íÓâ» áÌë ÍâÇä Ú×ë.
áÑë ÈÑÌë ¼âÈÓä áâÍäáë Àäáë »ë ÈâÍÑâÌ áâÓâÑÊâÒ» áÌë
áÑë »ëÏÔ TV. ÍÇ ÍýÊâÌ »Óä×çï, Èí ÈÑâÓä ÍÖïÊ½ä ×çï Àë¬

(a) áë» ãÊÕÖ, áâÕÈä»âÔë ÑâÓë ×âÛâáë ÁÕçï Á#Óä Àë

(b) áë» ãÊÕÖ Úçï ÔíÐä ÌÉä

(c) áë» ÕØô. áë» ×ç»ý ÕØô áë» ×ç»ý ãÊÕÖ »ÓÈâï Ãèï»çï Àë

(d) áë» ÕØô, Èë ¼èÏ ÔâïÐí ÖÑÒ Àë ÍÇ Úçï ÕËâÓë ÍìÖâ »Ñâæ ×»çï
Àçï.

8. Ðè»ïÍÌä ÈäÕýÈâ »Òâ s»ëÔÑâï ÑâÍÕâÑâï áâÕë Àë

(a) Óä¿Ó s»ëÔ (b) ÖëlÖäÒÖ s»ëÔ

(c) ÏäÒçÎíÃ s»ëÔ (d) ÎëÓÌÚäÃ s»ëÔ
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9. A thermometer which has upper and lower point
equal to 950 and 50 reads 590. What is the
temperature in celsius scale?
(a) 600 C (b) 500 C

(c) 400 C (d) 1000 C

10.A car travels with a speed of 50 km/h for 2 hours
and 100 km/h for 1 hour. What is its average
speed?

(a) 75 km/h (b) 33.37 km/h

(c) 66.67 km/h (d) 150 km/h

11.The formula in which valency of metal is equal
to the valency of non metal.
(a) AlCl3 (b) Na2O
(c) MgS (d)  Mg3N2

12.Valency of an element ‘R’ is 2 with respect to
hydrogen. Then the formula of its chloride and
oxide is
(a) RCl, RO (b) RCl2 RO2

(c) RCl2, RO (d)  RO2, RCl
13.In the gaseous state, the particles can move

(a) only in one direction
(b) only in the fixed path
(c) randomly in all directions
(d) upwards and downwards only

14.When bitten by an ant, the sting causes irritation
due to the presence of
(a) a base in the sting
(b) formic acid in the sting
(c) poisonous chemicals
(d) both (a) and (b)

9. áë» ÉÑíôÑäÃÓ »ë ÁëÌâ éc¿ÈÑ áÌë nÒèÌÈÑ 950 Ìë ÖÑâÌ Àë
áÌë 50 , 590 Õâï¿ë Àë, Èí ÖëãnÃ½ýëÅ ÑâÍ »ýÑÑâï ÈâÍÑâÌ ×çï Àë¬

(a) 600 C (b) 500 C

(c)  400 C (d) 1000 C

10.áë» »âÓ 50 ã»Ñä. ÍýãÈ »Ôâ»Ìä ½ãÈÉä 2 »Ôâ» ¿âÔë Àë,

tÒâÓÏâÊ 100 ã»Ñä. ÍýãÈ »Ôâ»Ìä ½ãÈÉä 1 »Ôâ» ¿âÔë Àë.

Èí ÈëÌä ÖÓëÓâ× ½ãÈ ×íËí¬

(a) 75 km/h (b) 33.37 km/h

(c) 66.67 km/h (d) 150 km/h

11. »Òâ áÇçÖèÝÑâï ËâÈçÌä ÖïÒíÁ»Èâ áËâÈçÌä ÖïÒíÁ»ÈâÌë
ÖÑâÌ Àë

(a) AlCl3 (b) Na2O
(c) MgS (d)  Mg3N2

12. áë» ÈtÕ ‘R’ Ìä ÚâæÅ÷íÁÌÌâ ÖïÊÐôÑâï ÖïÒíÁ»Èâ 2 Àë Èí
ÈëÌâ »ÔíÓâæÅ áÌë áí»ÖâæÅÌâ ÖèÝí ...........

(a) RCl, RO (b) RCl2 RO2

(c) RCl2, RO (d)  RO2, RCl
13. ÕâÒç áÕsÉâÑâï »Çí .............. Ñâï ¾èÑë Àë

(a) Î»È áë»Á ãÊ×âÑâï

(b) Î»È áë» ãsÉÈ ÓsÈâÑâï

(c) ÏËä ãÊ×âÑâï ½ÑëÈëÑ

(d) éÍÓ áÌë Ìä¿ë Î»È

14. ÁÒâÓë »äÅä »ÓÅë Àë tÒâÓë Åï¼Ñâï................. Ìä ÚâÁÓäÌë
»âÓÇë ÏÛÈÓâ ÉâÒ Àë Èí

(a) Åï¼Ñâï ÏëæÂ ÚíÒ

(b) Åï¼Ñâï ÎíÓÑä» áëÖäÅ ÚíÒ

(c) ÂëÓä ÓÖâÒÇ ÚíÒ

(d) ÏïÌë (a) áÌë (b)
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15. The gas obtained by heating sulphur powder in
air is dissolved in water and the resulting solution
is reacted with litmus solution. Then we will
observe
(a) Litmus solution changes colour from red to
blue
(b) Litmus solution changes colour from blue to
red
(c) Litmus solution shows purple colour
(d) No effect, as gas is not soluble in water

16. Which of the following is not a compound?
(a)  Sugar (b) Common Salt
(c) Diamond (d)  Plaster of Paris

17. The number of metals which exist as gas is/are
_______.
(a)  one (b) two
(c)  three (d)  none

18.Which of the following is not a physical property?
(a)  Specific heat
(b) Melting point
(c)  Reaction with other elements or compounds
(d) Freezing point

15. ÖlÎÓÌâ ÍâÕÅÓÌë ÚÕâÑâï ½ÓÑ »Óä áÌë ÍâÇäÑâï áí½âÛÈâ
ÕâÒç ÑÛëÀë áÌë ÍãÓÇâÑä ̈ âÕÇÌä Íýã»ýÒâ ÔäÃÑÖÌâ ̈ âÕÇ
ÖâÉë ÉâÒ Àë Èí ÈÑâÓçï áÕÔí»Ì ×çï Ú×ë¬

(a) ÔäÃÑÖÌçï ̈ âÕÇ ÔâÔÉä ÐèÓçï Óï½ ÏÊÔë Àë

(b) ÔäÃÑÖÌçï ̈ âÕÇ ÐèÓçïÉä ÔâÔ Óï½ ÏÊÔë Àë

(c) ÔäÃÑÖÌçï ̈ âÕÇ ’ïÏÔä Óï½ Ê×âôÕë Àë

(d) »íæ áÖÓ ÉÈä ÌÉä

16. Ìä¿ëÌâÑâïÉä »Òçï ÖïÒíÁÌ ÌÉä¬

(a) ¼âïÅ (b) ÑäÄçï

(c) ÚäÓí (d) pÔâsÃÓ áíÎ ÍëÓäÖ

17. ËâÈçÌä ÖïKÒâ »ë Áë ÕâÒç sÕ#Íë áãsÈtÕ ËÓâÕë Àë _______.

(a) áë» (b) Ïë

(c) ÝÇ (d) áë»ÍÇ ÌãÚ

18. Ìä¿ëÌâÑâïÉä »Òí ÐâìãÈ» ½çÇËÑô ÌÉä¬

(a) ãÕã×wÃ éwÑâ

(b) ½ÔÌãÏïÊç

(c) ÈtÕ áÉÕâ ÖïÒíÁÌ ÖâÉë Ìä Íýã»ýÒâ

(d)  ÄâÓãÏïÊç
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19. Which diagram shows a positively charged ion?
= an electron

n = a neutron
p = a proton

(a) (b)

(c)  (d)none of these

20.Terrycot fibre is made using :
(a) wood pulp (b) esters
(c) acrylic (d) paper pulp

21.An animal that migrates great distance would
obtain the greatest benefit from storing its energy
as _____ .
(a) protein (b) Carbohydrate
(c) Fat (d) Amino acid

22.To leave the digestive tract, a substance must
cross a cell membrane. During which stage of
food processing does this takes place ?
(a) Ingestion (b) Digestion
(c) Absorption (d) Elimination

23.Oxidation of food inside cell takes place in
(a) Mitochondria (b) Golgi bodies
(c) Chromosome (d) Ribosome

19. ËÌ ãÕYèÈÐâÓäÈ áâÒÌ »íÇ Ê×âôÕë Àë¬

 =  æÔë»Ã÷íÌ

n =  nÒçÃ÷íÌ

p =  ÍýíÃíÌ

(a) (b)

(c)  (d) áë»ÍÇ ÌãÚ

20. ÃëÓä»íÃÌ ÓëÖâ Ìä ÏÌâÕÃÑâï................ Ìí éÍÒí½ ÉâÒ

(a) Ôâ»ÅâÌí ÑâÕí (b) áësÃÓ

(c) áë»ýëÔä» (d) »â½ÛÌí ÑâÕí

21. áë» Í×ç ÕËç áïÈÓ ¼Öë Àë tÒâÓë ÈëÑâïÉä Öï½ýÚâÒëÔä é’ôÌí Èë
ÑÚ^âÑ ÔâÐ éÄâÕë Àë, Èë é’ô ×çï Àë¬

(a) ÍýíÃäÌ (b) »âÏíôÚâæÅ÷ëÃ

(c) ¿ÓÏä (d) áëÑäÌí áëãÖÅ

22.áë» ÍÊâÉô Íâ¿ÌÌâ Ñâ½ôÌë ÀíÅäÌë »íØ ãÊÕâÔÑâïÉä ÍÖâÓ
ÉâÒ Àë. ¼íÓâ» ÏÌâÕÕâÌä áâ Íýã»ýÒâ ÊÓmÒâÌ Èë »Òâï sÉâÌ
Ôë Àë¬

(a) ¼íÓâ» ÔëÕâÌä ã»ýÒâ (b) Íâ¿Ì

(c) ×íØÇ (d) ÊèÓ ÉÕâÉä

23. »íØÌä áïÊÓ ¼íÓâ»Ìçï áíã»ÖÅë×Ì..........Ñâï ÉâÒ.

(a) ÖèÝ»Çä»â (b) ½íl½ä ÍÊâÉô

(c) Óï½ÖèÝ (d) ÓäÏíÂímÖ
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24.Plants with soft stem are called
(a) Shrubs (b) Herbs
(c) Tree (d) Tendril

25.Which is not a function of forest?
(a) Water cycle
(b) Balancing oxygen and carbon dioxide
(c) Formation of soil
(d) Wild life habitat

26.Plants convert CO2 into O2 during
(a) Respiration (b) Photosynthesis
(c) Transpiration (d) Translocation

27.Tigers and Leopards have stripes on their bodies,
this adaptaion helps then :
(a) to keep their bodies cool
(b) to keep their bodies hot
(c) to mix with the surroundings
(d) to look beautiful

28.The mode of vegetative reproduction in which
scion and stock are tied is called
(a) Grafting (b) Cutting
(c) Layering (d) Tissue culture

29.An oil water mixture is used as a spray against
mosquitoes. How might this spray also effect gas
exchange in other insect ?
(a) the oil might coat their lungs
(b) the oil might block the opening into  the
tracheal system
(c) The oil might interfere with gas  exchange
across the capillaries
(d) A, B and C are correct

30.The blood level of which gas is most important
in controlling human respiratory rate ?
(a) Nitric acid (b) Nitrogen
(c) Oxygen (d) Carbon dioxide

24. ÌÓÑ Íý»âïÅÕâÛâ ÀíÅ............ »ÚëÕâÒ.

(a) ÜöÍ (b) ÀíÅ

(c) ÂâÅ (d) ÈïÈèÖèÝ (ÍýÈâÌ)

25. Ìä¿ëÌâÑâïÉä »Òçï Áï½ÔÌçï »âÒô ÌÉä¬

(a) ÁÛ ¿»ý
(b) áíã»ÖÁÌ áÌë »âÏôÌÅâÒí»ÖâæÅÌë ÖïÈçÔäÈ »ÓÕí

(c) ÁÑäÌÌçï ÏïËâÓÇ

(d) Áï½Ôä ‘ÕÌÌçï ãÌÕâÖsÉâÌ

26. ÕÌsÍãÈ.........ÊÓãÑÒâÌ CO2 Ìë O2 Ñâï #ÍâïÈÓäÈ »Óë.

(a) WÕÖÌ (b) Íý»â× ÖïWÔëØÇ

(c) ÏâwÍítÖÁôÌ (d) sÉÛâïÈÓÇ

27. Õâ¾ áÌë ã¿^ââÌë ÈëÑÌâ ×ÓäÓ ÍÓ ÍÃöâáí ÚíÒ Àë áâ Íý»âÓÌçï
áÌç»çÔÌ......

(a) ÈëÑÌâ ×ÓäÓÌë ÄïÅç Óâ¼ë (b) ÈëÑÌâ ×ÓäÓÌë ½ÓÑ Óâ¼ë

(c) ÕâÈâÕÓÇ ÖâÉë ãÑÙ ÉâÒ (d) ÖçïÊÓ Ôâ½ë

28. ÕÌsÍãÈÌçï ÍýÁÌÌ ÁëÑâï »ÔÑ áÌë s»ïË ’ëÅâÒëÔâ ÓÚë
Èë........... »ÚëÕâÒ

(a) »ÔÑ ÓíÍÇ (b) »âÍÕçï

(c) ÊâÏ Ô½âÅÕí (d) Íë×ä ÖïÕËôÌ

29.áë» ÈëÔ-ÍâÇäÌâ ãÑÙÇÌí sÍýë ÈÓä»ë ÑcÀÓ ÖâÑë éÍÒí½
ÉâÒ Àë, »ëÕä ÓäÈë áâ sÍýë ÍÇ ánÒ ÁïÈçáíÑâï ÕâÒçãÕãÌÑÒÌä
áÖÓ ÍâÅä ×»ë Àë¬

(a) ÈëÑÌâ ÎëÎÖâÑâï ÈëÔÌçï áâÕÓÇ Úíæ ×»ë.

(b) áâ ÈëÔ Ó»È»ëã×»âáí ]âÓâ ÖÑ½ý ÕâÒçãÕãÌÑÒ
Íýã»ýÒâÑâï Êâ¼Ô Éæ ×»ë

(c) ÈëÔ WÕÖÌÈïÝÑâï ×#áâÈÑâï áÕÓíãËÈ »Óä     ×»ë Àë

(d) áë, Ïä áÌë Öä ÒígÒ Àë

30.»Òâ ÕâÒçÌçï Ó»ÈsÈÓ ÑâÌÕWÕÖÌÌâ ÊÓÌë ãÌÒïÝäÈ »ÓÕâ ÑâÃë
ÑÚtÕÍèÇô Àë ð

(a) ÌâæÃ÷ä» áëãÖÅ (b) ÌâæÃ÷íÁÌ

(c) áíã»ÖÁÌ (d) »âÏôÌ ÅâÒí»ÖâæÅ
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